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3. Answers may be written in Hindi or English but the same medium should be

followed throughout the paper.
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SECTION A (@8 &)

1. X Limited issued a prospectus inviting application for 20,000 shares of Rs. 10

each at a premium of Rs. 2 per share payable as follows :

On application : Rs.2
On allotment Rs. 5 (including premium)
On first call : Rs.3
On second and final call : Rs.2

PT.O.
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Applications were received for 30,000 shares and prorata allotment was made
on the application for 24,000 shares. Money overpaid on application was
employed on account of sum due on allotment.

Ramesh, to whom 400 shares were allotted, failed to pay the allotment money
and on his subsequent failures to pay the first call his shares were forfeited.
Mohan, the holder of 600 share, failed to pay the two calls, and his shares were
forfeited after second call.

Out of forfeited shares, 800 shares were sold to Krishna as fully paid up for
Rs. 9 per share, the whole of Ramesh’s shares were being included.

Show journal entries and the Balance Sheet. (15)
OR

(a) B Ltd. Forfeited 100 share of Rs. 50 each, Rs. 35 per share called up on
which Rs. 25 per share has been paid by Akshat; the amount of first call of
Rs. 10 per share being unpaid. The directors reissued the forfeited shares to
Mukesh crediting Rs. 35 per share paid for a payment of Rs. 25 per share.
Pass jburnal entries.

(b) The directors of C Ltd. forfeited 200 shares of Rs. 100, Rs. 50 being called
up issued at 5% discount on which Rs. 3000 has been paid. These shares
were reissued to one of the director upon payment of Rs. 18,000 credited
as fully paid up. Give journal entries.

(c) The director of D Ltd. forfeited 500 shares of Rs. 100 each, for non-
payment of final call money of Rs. 50 per share. Half of these shares
were subsequently reissued at Rs. 120 per share as fully paid. Pass journal
entries. : (5+5+5)
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2. (a) What do you mean by redemption of preference shares? Explain the

(b)

conditions of redeeming preference shares according to section 80 of the

Companies Act. %)

PQR Ltd. has an authorized equity capital of Rs. 20 Iakhs divided into
shares of Rs. 100 each. The paid up capital was Rs. 12,50,000. Beside this,
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(@)

(b)
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~ company had 9% redeemable cumulative preference shares of Rs. 10 each

for Rs. 2,50,000. Balance on other accounts was: Securities Premium
Rs. 18,000; Profit and Loss Account Rs. 72,000 and General Reserve
Rs. 3,40,000. Including in sundry assets were investments of face value
Rs. 30,000, carried in the books at a cost of Rs. 34,000.

The company decided to redeem the cumulative preference shares at a
premium of 10% partly by the issue of eq'uity share of the face value of
Rs. 1,20,000 at a premium of 10%. Investments were sold at 105 % of their
face value. All the preference shareholders were paid off except fhree holder
holding 250 shares. Give the necessary journal entries bearing in mind that
the directors wanted a minimum reduction in free reserves while effecting the

above transactions. , A (10)
OR

What do you mean by redemption of Debenture ? Explain the methods of

redemption of debenture ? (5)

The following balance appeared in the books of a company on April 1,
2011: '

12% Debentures Rs. 4,00,000

Debenture Sinking Fund Rs. 3,00,000

Debenture Sinking Fund Investment Rs. 3,00,000 (represented by 10%
Rs. 3,60,000 Government Bonds)

Annual Contribution to Sinking Fund was Rs. 64,000 made on 31
March each year. On 31 March 2012, balance at bank was Rs. 2,00,000
after receipt of interest. The company sold the investments at 80% as

debentures were redeemed. Prepare necessary ledger account for the year
2011-2012. (10)
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SECTION B (W@We @)

What is the difference between Interim Dividend and Final Dividend ?  (3)

Kavita limited has a paid up equity share capital of Rs. 15,00,000 divided
into 1,50,000 shares of Rs. 10 each and 11% preference share capital of
Rs. 5,00,000 divided into 5,000 shares of Rs. 100 each. The balance of
profit brought forward from the previous balance sheet was Rs. 38,000.

The profit for the year ended on 31% march 2012 amount to Rs. 5,80,000
after tax. The directors proposed a dividend of 24% on equity share capital,
after the following provisions :

(i) Statutory minimum transfer to general reserve; (ii) Provision of dividend

on preference shares. Prepare Profit and Loss Appropriation Account.
Assume the Corporate dividend Tax @ 10%. (12)

OR

The following is the trial balance of X Ltd. as on 31-12-2011

'Debit Balance Rs. | Credit Balances Rs.
Stock (opening) 7,50,000 | Purchase Return 1,00,000
Purchases 24,50,000| Sales 34,00,000
Wages 3,00,000 | Discount 30,000
Carriage 9,500 | Profit and Loss Account | 1,50,000
Fumniture 1,70,000 [ Share Capital 10,00,000
Salaries 75,000 | Creditors 1,75,000
Rent 40,000 | General Reserve 1,55,000
Trade Expense 70,500 | Bills Payable 70,000
Dividend Paid 90,000
Debtors 2,75,000
Plant and Machine 2,90,000
Cash at Bank 4,62,000
Patents 48,000
Bills Receivable 50,000

50,80,000 50,80,000
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Prepare Profit and loss acceunt, Profit and Loss Appropriation Account for
the year ended on 31 December, 2012 and a Balance sheet on that date

after considering the following adjustment :
(i) Closing Stock Rs. §,80,000.
(i) Provide for income tax at 30%. -
(iii) Depreciate Plant and Machinery at 15%, Furniture at 10%.

(iv) The Board recommended a dividend of 15% p. a. Transfer minimum

required amount to general reserve.

(v) Corporate Dividend Tax 10%. (15)
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4.

From the following details relating to the Accounts of Grow More Ltd. Prepare
Cash Flow Statement :

31-03-2012 (Rs.) - | 31-03-2011 (Rs.)
Liabilities :
Share Capital 10,00,000 8,00,000
Reserve | 2,00,000 1,50,000
Profit and Loss a/c 1,00,000 60,000
Debenture 2,00,000 | e
Provision for taxation ' 1,00,000 70,000
Proposed Dividend - 2,00,000 1,00,000
Sundry Creditors 7,00,000 8,20,000
Total 25,00,000 20,00,000
Assets
Plant and Machinery 7,00,000 5,00,000
Land and Building 6,00,000 4,00,000
Investment 1,00000 |  ceeeeeeee
Sundry Debtors ' 5,00,000 7,00,000
Stock 400000 | 2,00,000
Cash at Bank 2,00,000 2,00,000
Total 25,00,000 20,00,000

Additional Information :-
@ Depreciation @ 25% was charge on the opening value of Plant and Machinery.

(ii) During the year one old machine costing Rs. 50,000 (WDV Rs. 20,000) was
sold for Rs. 35,000.

(ii)) Rs. 50,000 was paid towards income tax during the year.
(iv) Building under construction was not subject to any depreciation. (15)
OR

(a) What is Cash Flow Statement ? What is usefulness of Cash Flow
Statement ? : (6)

PTO.
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(b) What are uses of Securities Premium according to sectivon 78 ? 4)

(c) What are the conditions to be fulfilled by a company for issuing share at

discount according to section 79 ? (5)
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wEIfaE A ' 2,00,000 1,00,000
i Srreal 700000 | 820,000
S 125,00,000 20,00,000
oA QA AHAA 7,00,000 5,00,000
qf T s S 6,00,000 4,00,000
fRw : 0010 I —
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Wi 4,00,000. 2,00,000
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Siig 25,00,000 20,00,000
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SECTION C (@s W)
5. (i) Calculate the amount of current assets and current liabilities if current ratio

is 2.5:1 and working capital is Rs. 60,000.

(i) Calculate the Debtor’s turnover ratio from the following :

Total Sales — Rs. 2,00,000; Cash Sales — Rs. 40,000; Debtors in the beginning
of the year — Rs. 20,000; Debtors at the end of the year — Rs. 60,000.

(i) Compute the amount of gross profit and sales if opening stock — Rs. 60,000;
closing stock — Rs. 1,00,000; stock turnover rate — 8 times and goods are

sold at a profit of 20% on sales. (4+5+6)
OR
(a) What is significance of ratio analysis ? 3)

(b) Explain the meaning and significance of any four of the following ratios. Also

give the formula for computing.
(1) Debt -Equity ratio
(i) Net Profit ratio
(iii) Return on Equity ratio
(iv) Debtor turnover ratio .

(v) Acid ratio ’ (3x4=12)
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